
Time: 40 Minutes Paper G. Science 8th Total Marks: 25

5th Month, 3rd Week, 6th Day Syllabus: Revision Test Syllabus (3rd Week)

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. The image of concave mirror may be:
±±±±5555½½½½3333ðððð
EEEE
GGGG%%%%ggggÅÅÅÅ¦¦¦¦kkkk,,,,ƒƒƒƒ$$$$ËËËËìììì::::

(a) Larger (,~ (b) Smaller gK

(c) Equal to object size ŸÆ‚,̂Æ',Z', (d) All Óx

2. Which mirror can form real as well as virtual image?

ÃÃÃÃyyyy‚‚‚‚%%%%ggggÇÇÇÇZZZZzzzzggggzzzzggggaaaaZZZZbbbb¦¦¦¦kkkk,,,,¯̄̄̄YYYYìììì????

(a) Plane mirror ™%g (b) Concave mirror
±5½3ð
E
G%g

(c) Convex mirror .o%g (d) Curred mirror ™ze%g

3. How many types of mirrors are there? %%%%ggggiiiiÅÅÅÅXXXXZZZZllllxxxx÷÷÷÷????

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ

4. The inner curved surface of concave mirror is: 
±±±±5555½½½½3333ðððð
EEEE
GGGG%%%%ggggÅÅÅÅZZZZ0000++++ggggzzzzãããã&&&&××××~~~~ƒƒƒƒððððRRRRƒƒƒƒCCCCìììì::::

(a) Reflectin g$¨Ò5»45ë GEGHE
Y

(b) Refracting ge»

(c) Diafracting eZc*�Û» (d) None Ãð7

5. What happens when light hits a shiny or smooth surface?

ZZZZ####ggggzzzzÝÝÝÝ®®®®ŠŠŠŠZZZZggggZZZZzzzzggggÈÈÈÈBBBBRRRR6666,,,,7777,,,,CCCCììììÂÂÂÂHHHHƒƒƒƒ@@@@****ìììì????

(a) It is disappeared tÃ7MCì (b) It is refracted tgelƒYCì

(c) It is absorbed t_.[ƒYCì (d) It is reflected tg$¨Ò5½ï GEGHƒYCì

6. How is the angle of incidence related to the angle of reflection?

ÐÐÐÐmmmmùùùùgggg‚‚‚‚rrrrìììì???? gggg
$$$$̈¨̈̈ÒÒÒÒ5555½½½½jjjjèèèè
GGGGEEEEGGGGIIIIEEEEÆÆÆÆZZZZyyyy ZZZZ$$$$kkkk5555åååå EEEE

GGGG
HHHH÷÷÷÷ZZZZyyyyÔÔÔÔ

(a) It is greater t(,Zƒ@*ì (b) It is smaller tgN*ì

(c) It is same tZq-6ƒ@*ì (d) None of these Ãð7

7. Which of the following is a source of current? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy™™™™....$$$$»»»»ffffgggg====ìììì????

(a) Fuse Ai (b) Circuit breaker u–',n

(c) Battery š~ (d) Switch Îó

8. The unit of electric current is: ZZZZ¼¼¼¼uuuu™™™™....$$$$»»»»----....$$$$ìììì::::

(a) Watt zZ^ (b) Volt zz« (c) Hertz CÙu,(d) Ampere Z
'.2.ç GFJ

9. Which wire has much more resistance? ÃÃÃÃyyyyÏÏÏÏ@@@@****ggggiiiicccc****ŠŠŠŠ{{{{ggggiiii____55554444øøøø
HHHHEEEE

ggggBBBBbbbbìììì????

(a) Copper wire »6,zZ], (b) Nichrome wire **MzxzZ],

(c) Silver wire |ŠgzZ], (d) Both a&c ŠzâV a&c

10. The resistance of wire depends upon: 6666,,,,ƒƒƒƒ@@@@****ìììì:::: ______ @@@@****ggggÅÅÅÅggggiiii____55554444øøøø
HHHHEEEE

»»»»ZZZZ®®®®gggg

(a) Length of wire @*gÅMð (b) Thickness of wire @*gÅñN*ð

(c) Material ¢as (d) All of these tÓx

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  State the laws of reflection. g
$¨Ò5½jè
GEGIEÆ̧Z2Òy™,X

(ii) Why switches are connected in circuits? Î
+?ç
J
FEu„~YVa}ƒD÷?

(iii)  What is principal focus? 6,±¯¾Hì?

(iv) Define electric current. Z¼u™.$Å°p™,X

(v)  Give examples of refraction in daily life. gzi'çO{i0+Ï~ge½ÅVBŠ,X

(vi) What is the function of voltmeter? zz«¢a»»xHì?

Q.No.3. How will you use two identical prisms so that a narrow beam of white

light incident on one prism emerges out of the second prism as white light?(3)

WWWW\\\\ŠŠŠŠzzzzZZZZqqqq----‰‰‰‰6666,,,,iiii''''××××ÃÃÃÃùùùùZZZZEEEEwwww™™™™,,,,ÐÐÐÐāāāāCCCCggggzzzzÝÝÝÝÅÅÅÅ....zzzzÓÓÓÓZZZZqqqq----6666,,,,iiiixxxx6666,,,,7777,,,,}}}}ŠŠŠŠzzzzuuuu}}}}6666,,,,iiiixxxx6666,,,,ggggzzzzÝÝÝÝÆÆÆÆ

YYYYññññ???? îîîîgggg6666,,,,¦¦¦¦ƒƒƒƒ
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